MH CET Law 2024 Answer Key for Logical and
Analytical Reasoning Slot 1 (Memory Based
Questions)

Q. Seema is two years older than Reema, who is twice as old as
Deepa. If the total ages of Seema, Reema, and Deepa be 27,
then how old is Reema?

7 years
9 years
8 years
10 years
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Ans - 10 years

Q. Pointing to a photograph, Mr. Bean said, “I have no brother or
sister but that man’s father is my father’s son”. Whose photograph
was it?

Ans - Mr Bean’s son

Q. A boat 240 mm long passes a pole in 24 seconds. How long
will it take to pass a pool of 650 m long?

65 sec
89 sec
100 sec
150 sec
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Ans - 89 sec



Q. Given set: (246, 257, 358), choose the number which is similar
to the given set.

a. (143,253, 246)
b. (233, 343, 345)
c. (273, 365, 367)
d. (145,225, 335)

Ans - (273, 365, 367)

Q. Statements: The Government-run company had asked its
employees to declare their income and assets but it has been
strongly resisted by employees union and no employee is going to
declare his home.

Conclusions:

I.  The employees of this company do not seem to have any additional undisclosed income
besides their salary.
II.  The employees union wants all senior officers to declare their income first.

Only conclusion | follows
Only conclusion Il follows
Either | or Il follows
Neither | nor Il follows
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Q. In each of the following questions, select the related word from
the given alternatives.

King: Palace:: Eskimo:?

Caravan
Asylum
Monastery
Igloo
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Ans - Igloo

Q. Ram has a paper route. Each morning, he delivers 37
newspapers to customers in his neighbourhood. It takes Ram 50
minutes to deliver all the papers. If Ram is sick or has other plans,
his friend Shyam, who lives on the same street, will sometimes
deliver the papers for him.

Ram and Shyam live in the same neighbourhood.

It takes Shyam more than 50 minutes to deliver the papers.
It is dark outside when Ram begins his deliveries.

Shyam would like to have his paper route.
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Ans - Ram and Shyam live in the same neighbourhood.

Q. Arc: Circle:: Line:?

Ellipse
Sphere
Point
Rectangle
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Ans - Rectangle

Q. Arrange the following in a sequence.

Punishment
Prison
Arrest
Crime
Judgment
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Ans - Crime, Arrest, Judgment, Punishment, Prison



Q. N5V, K7T, ?, E14P, B19N

HO9R
H10Q
H10R
[10R
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Ans - H10R



